

۱۹/۲۵ آفرین

Date _____ Subject سری هندسی

$$a_1 = 4 \quad a_1 + 3d = 41 \quad 3d = 41 - 4$$

سوال ۱

$$3d = 37$$

(۲)

$$d = 7$$

$$V_n + 3 \cdot 7 = 2 \cdot 4$$

$$V_n = 14 \quad n = \frac{14 \cdot 2}{7} = 4 \quad \checkmark$$

$$\frac{101}{91} \div \frac{1}{12}$$

$$101, \dots, 99V$$

سوال ۲

(۲)

$$100 \leq V_n + 3 < 1000$$

$$97 \leq V_n < 997$$

$$13, 14 \leq n < 142, 42 \dots$$

$$14, 14, \dots, 142$$

$$\frac{142 - 14}{1} + 1 = 129 \quad \checkmark$$

$$a_1 + d + a_1 + 2d + a_1 + 3d$$

$$a_1 + a_2 + a_3 = -4 + 12$$

$$3a_1 + 6d = 8$$

سوال ۳

(۱, ۲, ۵)

$$a_1 + a_2 + a_3 = 0$$

$$3a_1 + 6d = 0$$

$$-3d = 8$$

$$d = -\frac{8}{3}$$

$$a_1 = \frac{8}{3}$$

$$a_1 + 7d + a_1 + 14d =$$

$$22 + 7(-\frac{8}{3}) + 22 + 14(-\frac{8}{3}) = -\frac{1}{3}$$

$$3a_1 - 12 = 4$$

$$3a_1 = 16$$

$$a_1 = \frac{16}{3}$$

$$a_{17} + a_1 = 2a_1 + 16d$$

$$2(4) + 2(-\frac{8}{3}) = -\frac{4}{3} + 12 = \frac{32}{3}$$

$$\frac{1}{r} d$$

Scanned

$$r^{n+1} = (r^n - 1) + (r^n - r^n) = r^n + r^n - r^n = r^n$$

r

$$r^n - r^{n+1} + r^n - r^n = 0$$

$$a_p = r^n - 1 = r^n$$

$$r^n (r^n + 1 - r^n) - r^n = 0$$

$$a_n = r^n - 1 = r^n$$

$$a_p = r^n - r^n = 0$$

$$y (y - r^n) - r^n = 0$$

$$y^2 - r^n y - r^n = 0$$

$$y = \frac{r^n \pm \sqrt{r^{2n} + 4r^n}}{2} = \frac{r^n \pm 2r^n}{2} = r^n$$

وال

$$a_r - a_l = \Delta$$

$$a_r + 11d - a_l - 9d = \Delta$$

$$2d = \Delta \quad d = \frac{\Delta}{2}$$

$$a_l + a_r = 2\Delta$$

$$a_l + 9d + a_r + 11d = 2\Delta$$

$$2a_l + 20d = 2\Delta$$

$$2a_l + \frac{20 \times \Delta}{2} = 2\Delta$$

$$2a_l = 2\Delta - 10\Delta$$

$$a_l + 10d$$

$$2a_l = -8\Delta$$

$$a_l = -\frac{8\Delta}{2} = -4\Delta$$

$$a_l = -4\Delta$$

وال

$$a_l + a_r + a_{10} + a_{11} + a_{12} = \frac{1}{n} (a_1 + a_n + a_{n-1} + a_{n-2} + \dots)$$

$$5a_l + 10d = \frac{1}{n} (a_1 + 10ad)$$

$$10a_l + 20d = a_1 + 10ad$$

$$10a_l = a_1 - 10d \rightarrow a_l = \frac{a_1 - 10d}{10}$$

$$\frac{a_r}{a_l} = \frac{\frac{a_1 - 10d}{10}}{\frac{1}{10}d} = \frac{a_1 - 10d}{d}$$

$$a_r = \frac{a_1 - 10d}{d}$$

$$r_d = 1 \Delta \quad d = \Delta \quad t_d = a + \epsilon d = a + r.$$

$$t_q = a + \Delta d = a + r.$$

$$t_q^r - t_a^r = (t_q - t_a)(t_q + t_a) = r \cdot (ra + r) = \epsilon \cdot a + 1r..$$

$$t_q - t_a = (a + \epsilon) - (a + r) = r.$$

$$t_q + t_a = (a + \epsilon) + (a + r) = 2a + r.$$

$$\frac{t_q^r - t_a^r}{t_r} = \frac{\epsilon \cdot a + 1r..}{a + r} \quad \frac{1r..}{r} \cdot \epsilon$$

$$t_q^r - t_a^r = \epsilon \cdot t_r$$

$$\frac{r(1 - \sqrt{r})}{a} \sim \sim \sim \frac{(r + \sqrt{r})}{a + r}$$

$$\frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1r} = r + \sqrt{r} - r(1 - \sqrt{r}) = r + \sqrt{r} - r +$$

$$1r\sqrt{r} = 1r\sqrt{r} \quad \frac{1r\sqrt{r}}{r} = \sqrt{r}$$

$$\frac{r}{a} \sim \sim \sim \frac{r}{a + r}$$

$$\frac{r}{a} \sim \sim \sim \frac{r}{a + r} \quad d = \frac{r - r}{\epsilon n - r} = \frac{r}{\epsilon n - r} = \frac{1\Delta}{r n - 1}$$

$$n = 11 - r = 9 \quad 9 = nd \quad 9 = \frac{1\Delta n}{r n - 1} \quad 1\Delta n - 9 = 1\Delta n$$

$$r n = 9, n = 9$$

$$t_n \rightarrow t_{n+1} = t_{n-1} + t_{n-2} = r$$

سوال ۱۴

$$r_{n+1} = r, \quad r_n = 14, \quad n = 1$$

$$t_n = r t_r \quad t_n = t_{n-1} + r t_r \quad r t_r = \dots t_r$$

$$t_r + t_r + t_r = t_n + t_r + t_r$$